MTH 174, Exam #2, Spring 2018 Name Kg\(

Instructions: Show all work. Give exact answers unless specifically askgd to round. All complex
numbers should be stated in standard form, and all complex fractions §
show work, problems will be graded as “all or nothing” for the answerfonly; partial credit will not be
possible and any credit awarded for the work will not be available.

1. Determine the typ?e of conic by putting the equation 2x(x — | = v(3 —y — 2x) in standard

form. Sketch the graph. (10 points) 2?‘- 1 % | - By~ .2
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2. Sketch the parametric curves. Label the orientation. Convert the equations back to rectangular

coordinates. (8 points each) '
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3. Find a parametric equation that passes through points (1,4), aud (5, —2). (8 points)
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4. Find the equation of the tangent line for the parametric curvelgiven by x = 3t — t,y = 2312
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5. Find the equation(s) of the tangent line(s) to the graph r = 3[¢0s 26, passing through the pole.
(10 points)
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6. Find the area of one petal of r = 4 cos 36. (12 points)
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7. Find the area inside r = 2 cos 8, and outside r = 1. (15 point
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8. Sketch the vectors d = (3,2), ¥ = (—1,4) along with 1 + ¥. Use the graph to illustrate the
parallelogram rule. (7 points)
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9. Useu = (4,3), ¥ = (12,—5) to find the following. (5 points eagh)
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c. Write ¥ in polfr form.
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d. Write a unit vector in the direction of U
A
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e. Findui'v
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f.  Find the angle between i and v
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10. Find the resulting for'and direction of adding || F;|| = 75 lbs. @
45° and ||F;|| = 125 lbs., 85 = 120°. Round answers to onddecimal place. (10 points)
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11. Find the work dor

1e by pulling a car with a force of 1600 newt@ns at an able of 25° (with respect to
the horizontal) if the wagon is pulled 2 kilometers. Round an

er to one decimal place. (7 points)
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Useful formulas:
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